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CTpyKkTypa v GyHKLMM NPOBOAALLEN
CUCTEMbI CepALLA

CuHoaTpuanbHbi y3en  JloMuMHaHTHbIM Nnencmenkep cepaua. CobcTBeHHas
4yactoTa 60-100/MUH.

Me>Xxy3/10Bble Ny4Ku [MpoBeaeHne nmnynoca mexay CA n AB y3namu.

ATPNOBEHTPUKYNIAPHBIM  3ameaneHne NPOBeAEHMS MMMYIbCA Ha XeNy[04KU.

y3en CobcTBEeHHas YacToTa 40-60/MUH.

[Myyok [1ca [MpoBeseHue nmnyabca oT AB y3a1a K HOXKaM.
JleBas HOXKaA [IpoBeseHne NMNY/ibCa K IEBOMY XKENY04KY.
[paBas HOXKa [poBeseHne NMNYy/ibca K NPaBOMY Xenya0uKy.
Cuctema lNypkunHbe CeTb BO/NIOKOH, MPOBOAALLAA MMMY/IbC B CTEHKAX

xenypo4ukoB. CoO6CTBEHHAA YAaCTOTA 20-40/MUH.



Bachmann's Bundle

Sinoatrial (SA)
Node

Anterior Left Bundle Branch

Internodal
Tract

Middle
Internodal
Tract

Conduction

Posterior Pathways

Internodal
Tract

Right Bundle Branch
Atrioventricular (AV) Node
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OnpegeneHne HCC

300 150 100 76 60 50 '
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HopMasibHad YyactoTa (60-100/
PUTM peryaspHbln

P-3ybel, HOpMabHbIN (MONOXMTENbHBIU U
YHUDOPMHbIN)

PR-nHTepBan HopMasibHbIN (0,12-0,20 CeK)
QRS HopmasnbHbIN (0,06-0,10 CeK)
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YacTtoTa HOPpMaJibHaA UJinN CHU>XKeHHas (Ol'lpeAEI'IHETCFl 4aCTOTOM
N NpoAOo/DKUTE/IbHOCTbIO nay3)

PuUTm HeperynsipHbIX Npu naysax

P-3y6Lbl HOpMa/ibHbIE, KpOME YYACTKOB BbiNajeHUSA UMNYJ/IbCA
PR-nHTepBan HopmanbHbIN

QRS HopmanbHbIN

CepAeUHbIM MMNYAbC CHUXKAETCA, YTO MOXKET 6bITb NPUUMHOU CUHKONE UAU
rOAOBOKPY>X€EHUA
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Dropped beat
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® l-IaCTOTa Hopmaanaﬂ WJIN CHN)KEHHaA (onpep,enﬂeTCﬂ
4acTOTOM N NPOAO/DKUTENIbHOCTbIO Nay3)

PUTM HeperyansipHbiv nNpu naysax

P-3ybLbl HOpMasibHble, KpOME yUYaCTKOB Mnays3
PR-uHTepBan HopmasibHbIN

QRS HopmanbHbIN

CepAeUHbIM MMNYAbC CHUXKAETCA, YTO MOXKET 6bITb NPUUMHOU CUHKONE UAU
rOAOBOKPY>X€EHUA
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YacTtoTa 3aBUCUT OT OCHOBHOIO pUTMa
Putm perynsipHbin
P-3ybeL, HOpMaibHbIN

PR-uHTepBan kopotkum (<o,12 cek), ecam P-3ybel,
NnpuUCyTCTBYeT

QRS wunpokum (>0,10 cek); AenbTa-BOJIHA

A onoAHUTEABHBbIE MYUYKU MeXKAY A u V, 6bICTPO NpOBOASALLUE UMIYADC.
CBA3aH c TaxMKapAMAMMU C Y3KMM KOMIMAEKCOM, BKAIOYAsA TPeneTaHUe U
bunbpuaraLUIO NpeacepAUM.




AB 610Kapa 1 cTeneHu
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YacToTa 3aBUCUT OT OCHOBHOIO pUTMa

Putm perynsipHbin

P-3ybeL, HOpMaibHbIN

PR-uHTepBan gAnHHbIN (30,20 cek), ecam P-3ybel,
npuUcyTcTBYyeT

QRS HopmanbHbIN
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KAuHMUecKu 06bIUHO 6AaronpuaTHa, HO ecAn cBAasaHa ¢ OUM, moxkeT
npmBecTHU K HapyweHuio AB npoBeaeHus.




AB 6n0|<a,£|,a 2 CTeneHN (TI/II'I 1)

B&ockedbeat § | ; R

® YactoTa 3aBMCUT OT OCHOBHOIO pUTMa

® PwuTtm HeperynsipHbiu

® P-3yb6eu HOpMaNbHbIN

o

PR-uHTepBan: nocreneHHoe yainHeHue, noka oauH 3P He
byaet 6n0okmpoBaH u QRS Bbinager

® QRS HopmanbHbIN

M.6. 06ycaoBAeH BAB, pourokcuHom, AKK u nwemmuen (npaBas KopoHapHas
apTepun). Mobitz | uam Wenckebach.




AB 6n0kasa 2 cteneHu (Tun 2)

YactoTa npeacepaunn (06bIuHO 60-100/MUH) 6oabLLE YACTOTDI
XXKeNyAOUKOB

PuUTm npeacepAaunmn peryisipHbii, XXenyA04KOoB HeperyaspHbIv
P-3ybeL, HOpmanbHbIN

PR-nHTepBan: HopManbHbIA UM YAJIMHEHHDbIN, HO NMOCTOSAHHbIN
QRS 06b14HO yWwMpeH (>0,10 cek)

BpaauKapAMA MOXKeT CHMXKaTb cepAeUYHbIU BbIGPOC M NPUBOAUTB K MOAHOM
AB 6A0kape. HYacTo nosaBAaseTca npu mwemum mam UM




- ABbnokaga3zcrenenn

=

YactoTa npeacepaunin 60-100/MUH, XXeNyAOUKOB 40-60/MUH (<40/MUH,
eC/IN U3 XXeNnyA04KOB)

PUTM 06bIUHO perynsapHbIi, HO NpeAcepArs U XXeNyA0UKM
CcoKpaLialoTcs He3aBUCUMO

P-3ybeL, HOpMasibHbINM; MOXeET HacnamBaTbcA Ha QRS u 3T
PR-nHTepBan: oueHb BapnabenbHbin
QRS HopmanbHbIN , ecnn U3 AB y3na; WMPOKUN, €CN U3 XKEeNyA0UYKOB

NoAHasa nonepeyHas 6A0Kapa




EnOKa,u,a HOXKW [nca

Notched QRS

® YacToTa 3aBMCUT OT OCHOBHOIO pUTMaA

® PuTt™m perynsipHbiu

® P-3ybeu HOpManbHbIN

® PR-uHTepBan: HopmaabHbIU

® QRS 06bI4HO yIMpeH (>0,10 cek) ¢ 3a3ybpuHamu

O6bIiuHO nosaBaseTca npu UBC. lNMpaBbiit MAM A€BbIN YKEAYAOUEK
AEMNOAApPU3YyEeTCHA NO3XKE, UTO NPUBOAMUT K 3a3y6puHe Ha QRS.




HopmanbHaga 30C

AV node — His bundle

Left bundle branch

Anterior fascicle

Right bundle
branch

Posterior fascicle

® Putm cuHycoBbii; wnpokuin QRS c 3a3ybpmHon R B |,
aVL,V5,V6; nusepcna T (mameHeHue penonspusaymm)



bhokaaa NHMT

e CMHya;éblﬁ pui'ﬁ;_ARSRI“WAI_; AOMUHMpYIowmii R u3-3a
BMHMI; wupokun n pacwenneHHbin S B V6
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® Putm cuHycoBbii; wnpokuin QRS c 3a3ybpmHon R B |,
aVL,V5,V6; nusepcna T (mameHeHue penonspusaymm)
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® [loteps centanbHoro 3Q mn 3asybpuHa QRS B
NatepasibHbIX OTBeAeHUAX



AB 610Kkap
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® PuUTM CMHYCOBbIN

® PR 320 mcek

® LlUupokun QRS

® RSRI BV2

® LUupokun pacwenneHHbin S B V6



AB 6nokaaa act + BINHMT
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PUTM CMHYCOBbIN

PR 320 Mmcek

LLinpokun QRS

RSRI B V2

LLinpokun pacwenseHHbin S B V6



® PUTM CMHYCOBbBIU; HOpMa.ﬂbelﬁ“PR
® OtknoHeHue 20C BneBoO
® JomunHupyrowun S s i, I



brokaga IMHAT

|

® Putm cMHycoBbIiW; HopMaabHbi PR
® OtknoHeHue 20C BneBoO
® JomunHupyrowun S s i, I



budacumkynapHasa 6a1okaaa
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® PuTm cuHycoBbIW; HOpManbHbIK PR
® OTtknoHeHue 30C BneBO
® RSRI BVI nwmpokun S8 Vé



bugacumkynapHas 6s10kasa
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® Putm CVIHYCOB-bIl‘/’I; HopMmasabHbiU PR
® OTtknoHeHue 30C BneBO
® RSRI BVI nwmpokun S8 Vé



TpnopacumkynapHasa 61okaaa
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® PR uHTepBan 280 mcek

® OTknoHeHue 50C BneBO

® LWupokun QRS

® RSRI B VI




TpndacunkynapHas 61okasa

® PR uHTepBan 280 mcek
® OTknoHeHue 50C BneBO
® LWupokun QRS

® RSRI B VI
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CoCTOAHMA, acCcouMMPOBaHHbIe C
ancoyHkymen CA yana

® Bo3pacrt

® NanonaTtuueckum ¢pubpos

® Nwemuq,B T4.UM

® BbicOKMM NapacMmnaTUyeCckmm TOHYC
® Mwuokapaut

® TOKCUYHOCTb ANUIOKCUHA






The ECG shows:

» Complete heart block
¢ Ventricular rate 45/min

Clinical interpretation

[n complete heart block there is no relationship
between the P waves (here with a rate of 70/min)
and the QRS complexes. The ventricular ‘escape’
rhythm has wide QRS complexes and abnormal T
waves. No further interpretation of the ECG is
possible.

What to do

[n the absence of a history suggesting a myocardial
infarction, this woman almost certainly has chronic
heart block: the fall may or may not have been

due to a Stokes-Adams attack. She needs a
permanent pacemaker, ideally immediately to

save the morbidity of first temporary, and then
permanent, pacemaker insertion. If permanent
pacing is not possible immediately, a temporary
pacemaker will be needed preoperatively.

Summary
Complete (third degree) heart block.

'ME| Seep.33
ip | Seep.213



!
:
221 =
: i
3 -
. =
2
—_— -
i =%
: 3 S8 3
w ~emo-e -,
3 3 37 3
3 3 31 § 3
: 3
e <= —— =
£33 o g
$ 2 :
iR | ] = o : T13=
'] 3 3
i i 1 441 !
C—— ———y - r e e v
— " 3 =k 3 = 5 3 - =ilr=
3 3 T == t P T 1 st =
4 8 : 3 H 3 1 ]
— . == = 3S 3 1 81 : 3 § § |
— s —ar b s =Setss .- 831 : s $ . 3
: : : 28+ ifi :
FES e §iiz 3 3 T ISR IIEY T N a1
= = 23 SR SER=—2
2 —adda- > - == 1
3 = : 3 i3 i
— ~— : v *3
: = $ 3 $32-3 o= SRRt
TR TRt = = 11 3 122
TSR t——pr—t = T -- Ly s Cume L e §
3 . < :
s s ol S =
$ = e et == — s : 2
. + -+ 2 B T 1 B o < B e
: 1 1 : : 3 . >
3-8 = 3 4 ] i
1216» |
- == = s isem: i
: $ it !
i m S e miiii masimmiimmiimsi i e — i
— S Im miim e il == S e
vl e > : :
= IIEHIES : : 33 1IET :
4 - > 18 “3- .- -
= i3 B
=% % =l iR S
P o s : 3
= $ $ : 3
s I iE IR iE= = SRt —EST R
== =t 3 =35 333 ——
Sl 3 § 5 3 = 23 83
S : * ]
PO & 4 s s m - :
- [ EEEEY F S Rt i
- S SR I T - -
: 3
=3 $s—
: i
$ {5
5 3 : .
$83--388: 333 3= :
1 : -
111 13
$ 2 tt 3 =33 7 = 3 33 2 3 $
i —338- -3 44 3 = 4.
3 B3 3 33 : :
$ 38 — - — : =
i $ 3 :
T — 3=
: 3
i
e pmri == e
i —iiimIiies: 2
St che—3
St - =
3 T2 =pe—t
3—H——h——
| [ TR
- . - - 4
331132 the1
3$E34=3 = T
=
$ 3 £t 111
2] St reat——1i3s— 23 v $ - :
131 sasgs 1 rt 1 1Et 1 3 | pamm - v . 3 3
2344 = SERs2 §-388s cREC 3 3 31 PESC I ) B $: 183
34 - § 385338 3 : S— :




ANSWER 8

The ECGs show:

(a) No P waves can be seen but the baseline
is irregular; the QRS complexes are broad,
regular, and slow. This is atrial fibrillation with
complete block.

(b) In the conducted beats the PR interval is
constant, so this is sinus rhythm with second
degree (2:1) block. The second small deflection
after the R wave is not a P wave, but is part of
the QRS complex.

(¢) There is no fixed relationship between the
P waves and the QRS complexes, so this is
complete (third degree) heart block.

Clinical interpretation
Single ECG leads can only be used to identify the
rhythm, and further interpretation is unreliable.

What to do

All the patients are probably suffering the effects
of their bradycardia; additional symptoms might
be angina, dizziness, and collapse (Stokes-Adams

attacks). In each case the likely diagnosis is
idiopathic fibrosis of the conducting system, but
almost all cardiac conditions can be associated
with heart block - rheumatic disease, ischaemia,
cardiomyopathy, trauma, metastases and so on.
In the elderly, heart block is often associated with
a calcified aortic valve. Whatever their age, such
patients benefit from a permanent pacemaker.

Summary * &
(a) Atnal fibrillation and complete block.

(b) Second degree (2:1) block.

(c) Complete (third degree) block.

'ME | Seep. 30
IP | Seep.199
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ANSWER 10

The ECG shows:

¢ Atrial fibrillation with a ventricular rate of about
40/min

o Left axis

¢ Left bundle branch block

Clinical interpretation

When an ECG shows left bundle branch block,
no further interpretation is usually possible. Here
there is atrial fibrillation, and the ventricular
response is very slow, suggesting that there is
conduction delay in the His bundle as well as the
left bundle branch.

What to do

It is always important to establish the cause of
heart failure. In this patient the slow ventricular
rate may be at least part of the problem. The most
important causes of left bundle branch block are
ischaemia, aortic stenosis and cardiomyopathy. In
this patient an echocardiogram will show whether
he has significant valve disease and how impaired

left ventricular function is. In the absence of pain,
coronary angiography is probably not indicated.
The heart failure needs to be treated with diuretics
and an angiotensin-converting enzyme inhibitor,
but digoxin must be avoided as it may slow the
ventricular response still further. He almost
certainly needs a permanent pacemaker.

Summary *
Atrial fibrillation and left bundle branch block.

'ME | Seepp.36and 78
IP | Seep.209
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ANSWER 12

The ECG shows:

* Second degree (2:1) heart block

¢ Prolonged PR interval (440 ms) in the conducted
beats

* Ventricular rate about 40/min

¢ Normal QRS complexes and T waves

Clinical interpretation

Although the slow ventricular response raises the
possibility of complete heart block, the fact that
the PR interval is constant (albeit prolonged)
shows that this is actually second degree block.
The non-conducted P waves are not easy to see,
but the clue lies in the abnormally shaped T waves
in the anterior leads. Second degree block explains
why the QRS complexes are narrow and the T
waves are normal.

What to do

Since this woman has been breathless and dizzy
for some time, and since there is nothing in the
history or on the ECG to suggest an acute

infarction, it is unlikely that this conduction
disturbance is new. She therefore needs a
permanent pacemaker: the only problem is to
decide whether the urgent hip surgery should be
covered with a temporary pacemaker - ideally she
would be saved that procedure and a permanent
system implanted immediately.

Summary "
Second degree (2:1) heart block.

:,ME,_\ See p. 31
IP | Seep.212
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ANSWER 15

The ECG shows:

e Sinus rhythm

o Right axis

e Short PR interval (112 ms)

o QRS complexes a little wide (124 ms)
o Slurred upstroke of QRS (delta wave)
¢ Dominant R wave in lead V,

o Widespread T wave inversion

Clinical interpretation

This is a classical Wolff-Parkinson-White
syndrome. The resemblance to the ECG of right
ventricular hypertrophy is because this is type A,
with a left-sided accessory pathway. The ECG
changes of right axis, the dominant R wave in
lead V,, and the T wave changes have no further
significance.

What to do

The patient gives a clear story of a paroxysmal
tachycardia, and during attacks the circulation is
clearly compromised because he feels dizzy. The

attacks are infrequent so there is little point in
ambulatory ECG recording. He needs immediate
referral to an electrophysiologist for ablation of the
aberrant conducting pathway.

Summary *
Wolff-Parkinson-White syndrome type A.

'ME| Seep.81
IP | See pp. 126 and 198
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ANSWER 16

The ECG shows:

¢ Sinus rhythm

o Prolonged PR interval of 280 ms (best seen in
leads V, V,)

o Normal axis

» Normal QRS complexes

¢ Normal ST segments and T waves

Clinical interpretation
Sinus thythm with first degree block.

What to do

First degree block does not cause any
haemodynamic impairment, and by itself is of
little significance. However, when a patient has
symptoms which might be due to a bradycardia
(in this case dizziness), there may be episodes
of second or third degree block, or possibly
Stokes-Adams attacks, associated with a slow
ventricular rate. The appropriate action is
therefore to request a 24 h ECG tape-recording
invthe hope that the patient will have one of her

dizzy turns while wearing it. It would then be
possible to see whether or not the dizziness

was associated with a change in heart rhythm.
First degree block itself is not an indication for
permanent pacing or for any other intervention.

Summary >k
Sinus rhythm with first degree block.

'ME| Seep. 30
IP | Seep.137






ANSWER 19

The ECG shows:

Sinus rhythm

Broad QRS complexes (140 ms)
‘M’ pattern in lead V,

Inverted T waves in leads I, VL, V

o o

Clinical interpretation

This is a characteristic pattern of left bundle
branch block. The ECG cannot be interpreted
further.

What to do

A patient who has chest pain that could be angina,
and who has dizziness and syncope on exertion,
probably has severe aortic stenosis and this was
the case with this woman. Clinically she had a
slow rising pulse, a blood pressure of 100/80, and a
slightly enlarged heart. There was a loud ejection
systolic murmur, best heard at the upper right
sternal edge and radiating to both carotids. The
diagnosis was confirmed by an echocardiogram,
which showed a gradient across the aortic valve of

about 100 mmHg. A cardiac catheter was necessary
to exclude coronary disease and she then had an
aortic valve replacement and made a complete
recovery.

Summary *
Sinus rhythm with left bundle branch block.

'ME| Seep.39
IP | Seep. 117
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the underlying disease is probably fibrosis of
ANSWER 2 S0 Cyms P y :
2 2 the conducting system rather than ischaemia. He
needs an echocardiogram and treatment with an

The ECG shows: : ; : § s :
angiotensin-converting enzyme inhibitor if there is
e Sinus rhythm evidence of left ventricular dysfunction.
* Second degree (2:1) heart block (most obvious in
lead V,)

e Ventricular rate 30/min

¢ Normal PR interval in the conducted beats

e Normal axis

o QRS duration prolonged (160 ms)

* RSR pattern in leads V,-V; and a wide § wave
in lead V

¢ Prominent U wave in leads V.-V

Clinical interpretation
This patient has second degree block and right
bundle branch block, so he clearly has extensive

conduction tissue disease. Summary * &
Second degree atrioventricular block and right bundle
What to do branch block.

The slow heart rate is probably the cause of
his heart failure, and he needs a permanent
pacemaker. The story suggests that the onset of
heart failure was not associated with chest pain, IP-| Seep.140

' ME| Seepp.31and37



I R R A P R R R TR S AR R R R B S m—t S m—— —— e B A B B A ——— e i
3 :
78 558 THEET CREET | RS R Sdge
| !
rEm e b Y Y B e St 318 LS
!
3
st ot bded !

: } 3 : : Sttt
- 19 | ! 4 . : 4
: !
. : i - . S = BRI B
: : :
—r—e S ..* . | y 4 : .
$ > + - - . - -
= e et S S SIS —— So_d8_ 2k 3Lk 3t 3
: : ! : : ¢ : : : 3
e —— IR EIR .
e T e ST SIS SRS 3 3 . _-esr s
. . |
]
: et BT BT RIS " - - $ | : :
:
|
i { i
Bl -3 ol e B LSS IS S =R S0 S
: {
T —— g — - —
s $ : ]
TSNS S S cnonw o - - e T SEEN S
| ]
1B limiiEm . 3 3 $idaditil i
RN IS IS L — - V- =2 : 3
o= =B BT R
g3 $ 3 3 3 3 3 3 =1 :
> — —— . - D - - > - -
3 : } H =3 -330-558
 1ymew ITERY Ty et + St ddsil i d8) :

F.

IS S S S W— - — . ¢~ ——t 2 2 .
:
i
: !
$ - - : : : : : 3 3
i
: : . :
: - - . 3 . - —== L B 353 -
SIS SN IENISSI I R Eas | S—atd $ 3 3

i ! ] | ] |
SIS e el s - e s S 38333 .
3 - +448 TR il et Ses4 PSS SN BT =28
. - $ 3 : : 4 $ . 4 |
“e - .o ‘ - - - * -. * - .- - "o - cmm . ‘
S| 182 S — | HESED - i B BT
!
i 3 : Sre—ger—gr —vt—=of o boded Sl el il
> S S e * . . - - - > e o v e . - . . - *
il = e L B S RIS RIS : =-. SiE
i |
| |
L= =Rl : : ~ : : | : 3 M : 3 * 3 3 4 3 3
! {4 i §38 -33: 33 RS B N § i3 |
o BT mIET 3 SRS N I SR RN R R NN et BT ST
| i i ] ] |
: : { fis 4=y f PiEE G ! {
'S BSOS SO0 0% W - : S Y e - S 1 o & . . “ PSPPSR SR
: '] 3 3 3 3 3 $ ' 4
: i ! : : 3 =1 | | {
. o -reelem . > e * + - - -— .o ot - * + - -4
: : ! $ 1 Sl mEi: m=a 3 = :
! | i : £ l ]
e R i et bl RN iEEs EI RIS I RIS SR RN : s 4 i L4 ]



ANSWER 23

The ECG shows (nofe: leads at half sensitivity):

¢ Sinus rhythm

¢ Supraventricular (junctional) extrasystoles
¢ Normal axis

* Broad QRS complexes (140 ms)

o ‘M’ pattern of QRS complex in leads V,-V,
e Inverted T waves in leads I, VL, V-V,

Clinical interpretation

This ECG shows sinus rhythm with
supraventricular extrasystoles and left bundle
branch block (LBBB). No further interpretation is
possible.

What to do

If a patient has symptoms suggestive of a
myocardial infarction of less than 6 h duration but
has LBBB on the ECG, thrombolysis should be
given only if the bundle branch block is known to
be new. Here the patient had a history of angina
so the first thing to do is to relieve his pain and the
second is to find his old notes and see if the LBBB

had been noted previously. If no old ECGs are
available, thrombolysis should not be given, and
the patient should be treated as an acute coronary
syndrome. The supraventricular extrasystoles are
not important.

Summary "
Left bundle branch block: supraventricular
exlrasystoles.

IP | See pp.36 and 62
'ME| Seep.259






ANSWER 26

The ECG shows:

¢ Sinus thythm

* Normal axis

* Broad QRS complexes (140 ms)

RSR pattern in lead

* Wide and slurred S waves in lead V;
» Normal ST segments and T waves

L)

Clinical interpretation
Right bundle branch block.

What to do

Right bundle branch block is seen in a small

proportion of people with perfectly normal hearts.

In the presence of a heart murmur, however, the
possibility of an atrial septal defect should be
considered. This is what this patient had. The
physical signs were a widely-split pulmonary
second sound which did not vary with inspiration
(this is typical of right bundle branch block) and
an ejection systolic murmur best heard at the left
sternal edge. On deep inspiration a soft diastolic

murmur could be heard at the lower left sternal
edge. The systolic murmur is a pulmonary flow
murmur due to the extra flow through the right
side of the heart, and the diastolic murmur

that occurs on inspiration is a tricuspid flow
murmur. The diagnosis was confirmed by
echocardiography, and the defect was closed

with a percutaneous ‘umbrella’ device. Following
operation, the right bundle branch block persisted.

Summary *
Sinus rhythm with right bundle branch block.

'ME | Seep.37
IP  See pp. 103 and 352
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ANSWER 35

The ECG shows:

* Sinus rhythm

* Second degree (2:1) block

* Left axis deviation

* Poor R wave progression in the anterior leads
* Normal T waves

Clinical interpretation

The second degree block is associated with a
ventricular rate of 45/min, which may well be the
cause of his breathlessness. The left axis deviation
indicates left anterior hemiblock. The poor R wave
progression (virtually no R wave in lead V,, a
small R wave in lead V,, and a normal R wave

in lead V) suggests an old anterior infarction.

What to do

This patient needs a permanent pacemaker.

Summary
Second degree (2:1) block. left anterior hemiblock,

and probable old anterior infarction.

 ME | See pp. 31 and 46

IP

See p. 140

L
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ANSWER 39

The ECG shows:

o Sinus rhythm

* Second degree block (Mobitz type 2 - best seen
in leads I and II)

¢ Ventricular rate 50/min

¢ Normal PR interval in the conducted beats

¢ Left axis deviation

* Broad QRS complexes (160 ms)

¢ No R waves in anterior chest leads

¢ Deep S wave in lead V;

Clinical interpretation

The combination of Mobitz type 2 block and

left interior hemiblock (shown by the left axis)
indicates severe conduction tissue disease. The loss
of R waves in the chest leads may be due to an old
anterior infarction, but the deep S wave in lead V;
may indicate an intraventricular conduction delay.

What to do
The recent episode of chest pain may have been
due to a further myocardial infarction, or may

have been associated with bradycardia due to
complete heart block. If repeat ECGs and blood
markers suggest there has no infarction, then

a permanent pacemaker is needed; if there

is evidence of a new infarction it would be
reasonable to monitor the patient closely and
see if the heart block improves.

Summary * %
Mobitz type 2 (second degree) block and left anterior
hemiblock; probable old anterior infarction.

ME | See pp. 31 and 46
IP | Seep. 140



